
jh]^ vfsf

2074.075

1 a]&s eQf 432000.00

2 %kfO{ 30000.00

3 ljljw 38000.00

4 sfo{ ;~rfng vr{ 100000.00

5 b} e| e 50000.00

6 lrofkfg 50000.00

hDdf 700000.00 hDdf 0.00

jh]^ vfsf

2074.075

1 sf(fdf*f} dflj ejg dd{t 288000.00

2 l;nu+] vfkf dd{t 384000.00

3

t]l*df*' dlGb/ dd{t 

pk/sf(f 192000.00

4 ejfgL dlGb/ jf]u^L ufp+ 192000.00

5 kfOk vl/b 1 b]lv 9 ;Dd 192000.00

6 j^fnfufp+ vfkf dd{t 96000.00

7 vfkf dd{t tNNff] j]nfg/ 96000.00

8 lkkn rf}tf/f] l;dkf^f 96000.00

9 le/sf]^ vfkf r}sf]^ 96000.00

10 ;]?s"nf] dd{t 96000.00   

11 ;fgfufp+ k|x/Lrf}sL dd{t 9600.00

12

;]n]lkGb|f vfkf dd{t jf]u^L 

ufp+ 48000.00

l;=g= of]hgf tyf sfo{qmd :yfg

l;=

g= of]hgf tyf sfo{qmd 

k'jL{rf}sL ufp+kflnsf 

5 g+= j*f sfof{no 

sf*fdf)*f} *f]^L

ljlQo ;dflgs/)f cg'bfg tkm{sf of]hgf tyf sfo{qmd 

;+rfng tkm{

:yfg

k|:tfljt 

2075.076

;fdflhs ljsf;

l;=g= of]hgf tyf sfo{qmd :yfg

l;=

g= of]hgf tyf sfo{qmd :yfg

k|:tfljt 

2075.076



13 hDdf 1785600.00

jh]^ vfsf

2074.075

1 ljB't nfO{g lj:tf/ 2688000.000

2

sf(fdf*f} lrg]sf]^ wfgsf*f 

rf}v' \̂ ]̂  ;*s 960000.00

3 lrg]sf]^  r}sf]^  ;*s 480000.00

4 l;Dkf^f u|fdL)f ;*s 288000.00

5

lsdu*]g wfdLtf]nf pk/sf(f 

;*s 192000.00

6 g'jf#/ t^jGwg 384000.00

7 a/sf^] uf]/]^f] af^f] lgdf{)f 96000.00

8 j^fnfufp+ uf]/]^f] af^f] lgdf{)f 201600.00

9 hDdf 5289600.00

jh]^ vfsf

2074.075

1 j*f sfof{no ejg dd{t 192000.00

2 ;'rgf k|jfx 28800.00

hDdf 220800.00

jh]^ vfsf

2074.075

1 slif If]qsf] nflu 96000.00

2 hDdf 96000.00

jh]^ vfsf

2074.075

jh]^ vfsf

nlIft ju{ tkm{

l;=g= of]hgf tyf sfo{qmd :yfg

l;=

g= of]hgf tyf sfo{qmd :yfg

k|:tfljt 

2075.076

jftfj/)f tyf ljkb Joj:yfkg vr{

l;=g= of]hgf tyf sfo{qmd :yfg

l;=

g= of]hgf tyf sfo{qmd :yfg

k|:tfljt 

2075.076

cfly{s ljsf; tkm{

l;=g= of]hgf tyf sfo{qmd :yfg

l;=

g= of]hgf tyf sfo{qmd :yfg

k|:tfljt 

2075.076

;+:yfut ljsf; tkm{

l;=g= of]hgf tyf sfo{qmd :yfg

l;=

g= of]hgf tyf sfo{qmd :yfg

k|:tfljt 

2075.076

k'jfwf/ljsf; tkm{ 

l;=g= of]hgf tyf sfo{qmd :yfg

l;=

g= :yfg

k|:tfljt 

2075.076



2074.075

1 blnt tkm{

2 dlxnf tkm{

3 jfnjflnsf

4 ckfu+

hDdf 288000.00

hDdf /sd 8380000.00

ufp+kflnsfaf^ yk dfu 

u/]sf] /sd

l;=g= sfo{qmdsf] gfd dfu u/sf] /sd

1 j*f sfof{ndf u|Ln Efm\ofn 100000.0

2 sn/ lk|G^/ 100000.0

3 Nofk^k vl/b 160000.0

4 df]^/;fOsn vl/b 300000.0

hDdf 660000.00

l;=g= of]hgf tyf sfo{qmd :yfg

l;=

g= of]hgf tyf sfo{qmd :yfg

k|:tfljt 

2075.076

288000.00


